HUMAN ANATOMY & PHSIOLOGY 1    NAME: 

 



QUIZ 7(BIOL268)                                            SIS ID     

   
1) Identify the mismatched pair.

A) skull bones: 8 cranial and 14 facial bones

B) bones associated with the skull: 6 auditory ossicles and 1 hyoid bone

C) vertebral column: 24 vertebrae and 1 sacrum and 1 coccyx

D) thoracic cage: sternum and 24 ribs and 2 clavicles

E) There is no mismatched pair.
2) Which paired bones form the lateral, posterior portions of the cranium?

A) frontal   B) maxilla   C) sphenoid   D) parietal   E) zygomatic

3) Which of the following is not a cranial bone?

A) frontal   B) parietal   C) palatine   D) temporal    E) occipital

4) Air-filled chambers found in several bones of the skull are called

A) conchae.   B) sinuses.   C) fontanelles.   D) sutures.   E) fossae.

5) The auditory ossicles are housed in which cranial bone?

A) sphenoid   B) ethmoid   C) zygomatic   D) temporal   E) lacrimal

6) The parietal bones and occipital bone articulate at the ________ suture.

A) lambdoid  B) central   C) sagittal   D) coronal   E) posterior

7) The ________ is the bony chamber that protects and supports the brain.

A) skull   B) centrum   C) cranium    D) cephalum    E) cortex

8) The inferior portion of the nasal septum is formed by the

A) nasal bone.   B) perpendicular plate of the ethmoid bone.

C) inferior nasal conchae.    D) vomer.   E) palatine bone.
9) The calvaria (or skullcap) is formed by the ________ bones.

A) frontal, temporal, and parietal  B) frontal, parietal, and occipital

C) temporal, parietal, and occipital   D) frontal, temporal, and occipital

E) frontal, temporal, parietal, and occipital

10) The five vertebral regions are the cervical, thoracic, lumbar, sacral, and

A) medial.  B) proximal.  C) distal.   D) coccygeal.   E) os coxal.

BONUS:        The vertebral column contains ________ thoracic vertebrae.
A) 4    B) 5    C) 7    D) 12     E) 31

